



Name: _____

Date: _____ Score: _____

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{5}\right) + \frac{1}{2} =$$

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{3}{5}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{3}{5}\right)^3 + \frac{3}{4} =$$

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{3}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) =$$



Name: _____

Date: _____ Score: _____

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{2}\right) = (-1)$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{18}\right)$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{5}\right) = \frac{7}{10}$$

$$\left(-\frac{3}{5}\right) + \frac{1}{2} = \left(-\frac{1}{10}\right)$$

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{4}\right) = \left(-\frac{1}{20}\right)$$

$$\left(\frac{3}{5}\right) + \left(-\frac{2}{5}\right) = \frac{1}{5}$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{6} = \frac{5}{12}$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{6} = \frac{19}{48}$$

$$\left(-\frac{3}{5}\right)^3 + \frac{3}{4} = \frac{267}{500}$$

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{3} = \left(-\frac{145}{192}\right)$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{2}{5}\right) = \frac{21}{40}$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{1}{3}\right) = \frac{128}{375}$$

$$\left(\frac{1}{3}\right)^3 - \frac{1}{2} = \left(-\frac{25}{54}\right)$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{653}{1080}\right)$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{5}{36}\right)$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{3}\right) = \frac{4}{9}$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{3}{20}\right)$$